International Olympiad in Informatics 2018
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Tsukuba, Japan seats
Day 1 Tasks Korean (KOR)
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give initial chart(int H, int W, int[] R, int[] C)
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int swap seats(int a, int b)
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Example

H=2W=3R=[0,1,1,0,0,1], C = [0,0,1,1,2,2], Q = 22t 5}=}.
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Constraints

e 1<H

Seats (2 of 3)



1<w

HW < 1000000

0O<R <H-10<i<HW-1
0<C;<W-10<i:i<HW-1

(Rz,Cz) # (Rj,Cj) 0<i<j<HW-1)
1< Q < 50000

0<a< HW —1 (2E swap_seats T&°)A)
0<b< HW — 1 (2E swap_seats 2=°]A)
a # b (LE swap_seats T&°A)

Subtasks

(5 points) HW < 100, Q < 5000

(6 points) HW < 10000, Q < 5000

(20 points) H <1000, W <1000, Q < 5000

(6 points) @ < 5000, |a — b| < 10000 (2E swap seats TEofA])
(33 points) H = 1
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